7.8 Pretest Answer Key
1. D.

2. 102 students

2 points:  Exemplary response; correct answer and work given

1 point:  Correct answer OR correct work given

0 points:  Neither correct answer nor correct work given

3. 3/8

2 points:  Exemplary response; Correct answer given and tree diagram drawn correctly

1 point:  Correct answer given, but incorrect or not tree diagram drawn OR Incorrect answer given, but correct tree diagram drawn
0 points:  Correct answer not given and tree diagram not drawn or drawn incorrectly
4. 120 outcomes

2 points: Exemplary response; correct answer given and correct work shown
1 point:  Correct answer given, but no or incorrect work shown OR incorrect answer, but appropriate work shown

0 points:  Incorrect answer given and no or incorrect work shown

5. 13

2 points: Exemplary response; correct answer given and correct work shown

1 point:  Correct answer given, but no or incorrect work shown OR incorrect answer, but appropriate work shown

0 points:  Incorrect answer given and no or incorrect work shown

